[bookmark: _GoBack]Practice Question!!
[image: ]

[image: ]
image1.png
Over the last 150 years, Europe has changed from a source to a destination refgion for international migration.

A

B.

Use the demographic transition model to explain briefly Europe’s development as a source of international
migrants between 1800 and 1920.

Identify and briefly explain ONE factor other than demographic transition that was responsible for Europe’s
development as a source of migrants to the United States between 1800 and 1920.

Briefly explain how THREE aspects of the demographic transition model account for Europe’s
transformation into a destination region for migrants from North Africa between 1960 and 2000.
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Note: In Past C, poiats are awarded for explanations derived fom appropriate aspects of the demographic
transition model





